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3-2回家作業                  七年____班____號 姓名______________
解下列方程式或回答問題
1. 4(x－3)＝3(4－x)，則x＝_____________
2. 36－x÷7＝6，則x＝_____________
3. 16－6x＝14x－8，則x＝_____________
4. x＝－x，則x＝_____________
5. 3x－5x＝2x，則x＝_____________
6. 99x－98x＋97x＝－96，則x＝_____________
7. 0.5x＝0.2x－0.7x，則x＝_____________
8. 0.2x＋1＝0.3x，則x＝_____________
9.  EQ \F(1,2)x－ EQ \F(1,3)x＝2，則x＝_____________
10.  EQ \F(1,3)x＋1＝ EQ \F(1,2)x，則x＝_____________
11. 2－33÷x＝－9，則x＝_____________
12. x＋5x＋9x－24＝3x＋7x＋11x＋12，
則x＝_____________
13. x－2(x－1)＋3(x＋2)＝44，則x＝_____________
14.  EQ \F(x－3,3)＝ EQ \F(4－x,4)，則x＝_____________
15. 1＋ EQ \F(1,2)x－ EQ \F(1,4)x＋ EQ \F(1,6)x－ EQ \F(1,8)x＝－1，則x＝_____________
16.  EQ \F(1,2)(x－3)－5＝ EQ \F(1,3)(x＋4) ，則x＝_____________
17. x－ EQ \F(2x－3,6)＝－1，則x＝_____________
18. －2x＋7(x－4)＝17，則x＝_____________
19.  EQ \F(1,5)x＋2＝ EQ \F(3,4)x－1.6，則x＝_____________
20.  EQ \F(5x－1,3)＝ EQ \F(7x＋5,4)－1，則x＝_____________
21. 3(x－7)＝－6，則x＝_____________
22. 0.6x＋7＝0.3x－0.1，則x＝_____________
23. 20(43－6x)＝4－13x，則x＝_____________
24.  EQ \F(2x－7,4)＋ EQ \F(x－3,3)＝ EQ \F(3x＋2,12)，則x＝_____________
25.  EQ \F(3,2)(x－6)－(2x－4)＝ EQ \F(3,4)，則x＝_____________
26. x＝1＋ EQ \F(x,2)＋ EQ \F(x,4)＋ EQ \F(x,8)，則x＝_____________
27.  EQ \F(1,4)＋ EQ \F(x,5)＋ EQ \F(x,25)＋ EQ \F(x,125)＝ EQ \F(x,4)，則x＝_____________
28. 2x＝ EQ \F(2,3)x－4，則x＝_____________
29. 2x＋ EQ \F(1,6)－1＝1－ EQ \F(x－1,4)，則x＝_____________
30. 5－[3x－(3＋x)]＝2(x－1) ，則x＝_____________
31. 4x－{5－3[x＋2(1－x)]}＝11，
則x＝_____________
32. 12(9－2x)＝－8(x－11)＋4，則x＝_____________
33. 0.5x－0.3x＋0.1x＝0.2x－4，則x＝_____________
34. 4[3x－2(x＋1)]＝－5，則x＝_____________
35. 20－3(4－x)＝(4x＋11)－8x，
則x＝_____________
36. 1.2＝ EQ \F(0.09x－0.15,0.3)＋ EQ \F(0.56,0.4)，則x＝_____________
37.  EQ \F(1,2){ EQ \F(1,3)[ EQ \F(1,4)( EQ \F(1,5)x－1)]}＝2，則x＝_____________
38. 3{2[4(5x－1)＋4]－12}＋6＝90，
則x＝_____________
39. 2｜5－3x｜＋10＝24，則x＝_____________
40. ｜9－4x｜＝11，則x＝_____________
41. 已知 EQ \F(3,4)x＋ EQ \F(5,6)x＋ EQ \F(7,8)x＝90，則 EQ \F(3x－4,4)＋ EQ \F(5x－6,6)＋ EQ \F(7x－8,8)
＝_____________
42. 若3.24x＝80，則7998－324 x＝_____________
43. 若｜7－2x｜＋2｜3y＋4｜＝0，則x＋y＝_____________
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